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2-Budget Constraints

The Budget Constraints that consumers face as a result of their 
limited incomes.

To see how a budget constraint limits a consumerΩs choices, letΩs 
consider a situation in which a woman has a fixed amount of 
income, I, that can be spent on food and clothing. Let Fbe the 
amount of food purchased and Cbe the amount of clothing. We 
will denote the pricesof the two goods PfandPc. In that case, 
Pf*F (i.e., price of food times the quantity) is the amount of 
money spent on foodand Pc*C the amount of money spent on 
clothing.



The Budget Line

Budget Line All combinations of goods for which the total amount 

of money spent is equal to income.

Because we are considering only two 
goods (and ignoring the possibility of 
saving), our hypothetical consumer will 
spend her entire income on food and 
clothing. As a result, the combinations of 
food and clothing that she can buy will all 
lie on this line:

I = Pf*F  +  Pc*C



Example

Suppose, for example, that our consumer has a weekly income of 
$80, the price of food is $1 per unit, and the price of clothing is $2 
per unit.

I = $80 = $1*(F) + $2*(C)



MRS & Relative Prices Relationship

As our consumer moves along the line from basket A to basket 
G, she spends less on clothing and more on food. It is easy to see 
that the extra clothing which must be given up to consume an 
additional unit of food is given by the ratio of the price of food to 
the price of clothing ($1/$2 = -1/2).

Because clothing costs $2 per unit and food only $1 per unit, 1/2 
unit of clothing must be given up to get 1 unit of food. In Figure, 
the slope of the line, ɲC/ɲF = -1/2, measures the relative 
Price(or cost) of food and clothing.

MRS (-ɲC/ɲF) = Pf/Pc



Pf*F + Pc*C = I

how much of C must be given up to consume more of F. We divide 
both sides of the equation by Pc and then solve for C:

C = (I/Pc) - (Pf/Pc)*F

Equation is for a straight line; it has a vertical intercept of: I/Pcand 
a slope of:  -(Pf/Pc).

In the same way we can get the horizontal intercept (I/Pf)



The slope of the budget line, -(Pf/Pc), is the negative of the ratio 
of the prices of the two goods. The magnitude of the slope tells us 
the rate at which the two goods can be substituted for each other 
without changing the total amount of money spent (Income). The 
vertical intercept (I/Pc) represents the maximum amount of C that 
can be purchased with income I. Finally, the horizontal intercept 
(I/Pf) tells us how many units of F can be purchased if all income 
were spent on F.



The Effects of Changes in Income and Prices

We have seen that the budget line depends both on income and on 
the prices of the goods, Pfand Pc. But the prices and income often 
change. LetΩs see how such changes affect the budget line.



Income Changes

A change in income (with prices 
unchanged) causes the budget line to 
shift parallel to the original line (L1). 
When the income of $80 (on L1) is 
increased to $160, the budget line 
shifts outward to L2. If the income 
falls to $40, the line shifts inward to 
L3.



Price Changes

A change in the price of one good 
(with income unchanged) causes the 
budget line to rotate about one 
intercept. When the price of food falls 
from $1.00 to $0.50, the budget line 
rotates outward from L1 to L2. 
However, when the price increases 
from $1.00 to $2.00, the line rotates 
inward from L1 to L3.

The Price of Food Falls



3 - Consumer Choice

If we assume that consumers make this choice in a rational wayτ
they will choose goods/services to maximize the satisfaction they 
can achieve, given the limited budget available to them. The 
maximizing market basket must satisfy two conditions:

1. It must be located on the budget line.

2. It must give the consumer the most preferred combination of 
goods and services.



MaximizingConsumer Satisfaction

A consumer maximizes satisfaction by 
choosing market basket A. At this point, the
budget line and indifference curve U2 are 
tangent, and no higher level of satisfaction 
(e.g., market basket D) can be attained. At 
A, the point of maximization, the MRS 
between the two goods equals the price 
ratio. At B, however, because the MRS [-(-
10/10) = 1] is not equal (or greater than) 
the price ratio (1/2), satisfaction is not 
maximized.



Marginal Benefit & Marginal Cost 

Marginal Benefit Benefitfrom additional unit consumedof a 

good.

Marginal Cost Cost of one additional unit Producedof a good.



Consumer Choice of Automobile Attributes

The consumers in (a) are 
willing to trade off (Give 
Up)a considerable amount 
of space for some additional 
acceleration. Given a budget 
constraint, they will choose 
a car that emphasizes 
acceleration. The opposite is 
true for consumers in (b).

Acceleration

Space



Corner Solutions

Corner Solution: Is a situation in which the marginal rate of 
substitution of one good for another in a chosen market basket is 
not equal to the slope of the budget line.

ACorner solution: When the 

consumerΩs marginal rate of
substitution is not equal to the price 
ratio for all levels of consumption, a 
corner solution arises.

MRS(-ɲC/ɲF) ґPf/Pc

for all levels of consumption


